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_The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions (any ten) :
1x10=10
R PR el i (R e wel) ¢
{a) What is ordinal utility?
RIS Tecatel 2

(b) State the law of equimarginal utility.
S Terafarel R Seary 41 |

{c) Define indifference map.

foreers <@ Iwivas s i |
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(e)

(g)

)

(i)

G

(k)
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(2)

What is the marginal rate of substitution
between two perfectly complementary
goods?

151 o AR AT oFge AR afveEs 29
o292 j

What is substitution effect?

AfSes Ree B2

Mention the ‘Giffen paradox’.
‘e F’CH Sy T

What is meant by production?
BeofeT e 5 g 2

Give one example of implicit cost.

AP IS q61 TrrzIe o

What is meant by a person be risk lover?
T o 351 TRF T & 3om 2

Why is the long-run average cost curve
U-shaped?

LA 91E I @S U-pfeq 59 259

What is iso-cost line?

R @ 32

( Continued )

() How do you calculate the marginal rate of
technical substitution?
AT afETe ofFsN 2@ SR (T SR
12

(m) Draw an isoquant curve for perfect
complements of factors.
o oifRemF TAM GO BT T HFA
<901

(n) Mention one important reason for
decreasing returns to scale. _
SRR ST TR @1 @Feed FET TEY
<4l

(o) Define variable factors.
oifRaTer o eeet fra |

{p) What are iso-utility curves?
- @Iz 2

{g) Why is average revenue curve of a firm
under perfect competition horizontal?
o efbrfirerEe o dfevH «bF T =
&1 Ty wrpefie =12

() Why are selling costs not incurred in
perfect competition?
oo aftcfienes TwRe RE T fon 39 7297
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2. Write short answers of the following questions
(any five) : 2x5=10

S oPAIee 5 Teq g (R e #Awd)
(a) What is meant by the slope of an iso-cost
line?

R (@R GO Bl W b g 2

(b) Distinguish between gross demand and
net demand.

I SifERt B¢ BfEE qrere A1F [y 54 |

(c) Can we apply the law of diminishing
‘marginal utility to money? Give reason.

TEPHE  ofes Toraier g N qum
CRAO ST PR AT 7 I e |

(d) State Slutsky’s equation.
BT FARCh! Tem 9 1,

(e) If B=x-P,+y-P,, where B represents
money income of the consumer, P, and

P, represent prices of goods x and y
respectively, find the slope of the
equation.

Tt B = x- P, +y- P, W, I'S B T% THS&R
W, P, WF P, ¥F T x UF y TH T,
FIFIECEE O Bfenad |

A23/178 ( Continued )

(5)

() Show that average cost is the
combination of average fixed cost and
average variable cost.

GRea @ T IW XA T 7 W A e
/RGN I T |

(g) What is strong ordering?

et & 2

(h) Distinguish between risk-averter and
risk-neutral individuals. .
RS W R AT afeT S
#f12fe el ¥4 |

(i) State the two conditions for equilibrium
of firm under perfect competition.

jcfﬁf%mﬁ‘mwzr%@mawwm‘
ol Tee 90

() What is a marginal firm?

2o aifoe 2

3. Answer the following questions (any foun :
5x4=20

e epeaed Teq fran (R e wifson) -

fa) Briefly explain the principle of
diminishing® marginal rate of
substitution. What role does it play in
shaping indifference curves? 3+2=5
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(6)

TP g afeTm = MG e T
9| s @ e e ovae ' R e
A S ? :

(b} What is income-consumption curve?
Derive income-consumption curve for
normal goods. 1+4=5

HY-Tece @4 B2 FefRe AAR ww-
ToCelel (FGIE SZIT F4 |

(c)] Explain the revealed  preference
hypothesis. 5

AT S2AEFE 2FHCOT I 40 |

(d) Fill in the blanks in the table below :

1+1+142=5
O IR e ST <F T ¢
Output | Total Total Total Average Average
Beapmy | cost (T) Jixed variable fixed variable
f{é’ cost (¥) cost (¥) cost (¥) cost (¥)
WO | PRI | PoReeaE | qe R | a5 ARadTTe
weEw | wmEw) | wWEW) | 7WE)
0 50 = == = Ea
1 70 — - — —
2 100 i == s ==
3 120 F ' = o o
4 135 = — — =
5 150 = = ; — e
6 160 = G = =
7 165 = == = ==
A23/178

( Continued )

(7)

(e} Examine the following data on outputs
and inputs. What type of returns to
scale does it represent and why? Give
arguments : 2+3=5

e fi SeomE Wi e wuptgR o
T | & @R S Y@ 2 AfefRy e

e 92 I fa
Capital (5%) (K) | Labour ) ()| Output (Se=m) (Q)
5 8 : 3
10 16 6
20 32 12
40 64 24
(ff/ What is expansion path? Derive
expansion path with the help of diagram.
1+4=5
TP #Y 1§ 7 Toue STRFe STepiae <Y o2ad

CE L :

(g) Derive average fixed cost curve from total
fixed cost curve. 5

P &9 I @R w9 e B9 W @
41 |

(h) Can a firm under perfect competition
operate in the short-run when it is
making losses? If so, explain the
condition with the help of diagram. 1+4=5
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( 8)

o efSEfrenEe TaRT zaeEe €5 afed
IR SFIW 2TAS BeeAm P v A
A ? WM AAE, o ~RiEReh ey Tare
A T

4. Answer the following questions (any four) :

10x4=40 |

T 2R Sad (R e s

With the help of indifference curve
analysis, derive individual and market
demand curve. 6+4=10

e @3 ReraR sSEre It oz @31 ue
IS GIfER (@ =R 9

(@)

Explain Slutsky substitution effect for a
rise in price and for a fall in price.

5+5=10
wIN e S 7N EPR CFaS WGte e [ee
A1 =4 |

(b)

What is meant by inter-temporal
choice? Explain inter-temporal choice of
consumption. 2+8=10

RS w6 F@Re?  oeR
BTG *f=% T 1 |

(c)

A23/178 { Continued }

|

(9)

(d) State and prove Samuelson’s
fundamental theorem . of demand.
Mention any two limitations of the
theorem. 8+2=10

e (e TIfEw Ot Smy F9 e
T T | OGOR [ @ o1 Moeaer Sy
9 |

(¢) What are the assumptions of N-M utility

function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10

N-M Socafare] e feqmapz fF 2 wfe-
R S ATl AR wfes o=wm
FRAA N-M Tl 553 @mea s $RT
(i< 7 <7< 4 |

State the law of diminishing returns.
Why do diminishing returns to a variable
input occur eventually? Can they become
negative? If so, why? 4+3+2+1=10

GNP Sedwe Ry Temy ww o
AMaé e TameR  cFqe  TEPEE BeA
S Y W2 3 AN RIS @ 2 IR
1A, fa 2
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(g)

( 10 )

What are increasing returns to scale?
Show them on an isoquant map. Explain

* the causes of increasing returns to scale.

(k)

A23/178

1+5+4=10

CIEA TATR Tl B2 S-Beo Wl
RIS (7841 | FRRL BRATTH AR TP
1T F |

Define marginal cost. How is it related to
marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How
would you explain it? 1+5+4=10

AT T KE Fw i @b CAmER oo
S W W @l e g
%QﬁmacvﬁmTqﬁiﬁw,aﬁ?¢aﬁfﬁwﬂasépfﬂm
Wﬁﬁﬁfﬁ%ﬁ@?{%%lmgﬁ
CFCTICI 77T R0 2

What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium

in the short-run. 2+8=10
AT ST T R Jw 2 ZvTTe e

4O (PCATCR SIRH 7S ¢4, <0107 1 |

( Continued )
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() Distinguish between market price and

normal price. Explain the determination
of market price in the very short period
under perfect competition. 4+6=10

IER W9 HF FORT w1 qerS =12 Fefa 51

o e JaTe W RS IGF J
faefiae aifema 2 < 1
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